Consolidation work 36 Second Level ***

1.  13.2 + 32.69 + 6.05 + 15.3

2.  72000/900

3.  3695 = ____ x 100?

4.  60% of 84

5.  4/6 of 3678 litres

6.  Write fourteen twentieths as a decimal, percentage and fraction. 

7.  0.9Kg = ___g? 

8.  In a class the ratio of pupils supporting a basketball team to those supporting a netball team is 3:4. 16 pupils support a basketball team so how many support a netball team?

9.  Simplify to its simplest form, 180:540

10.  Finley earns £85.75 a week. How much will he earn by the end of week 6?

11.  Round 365.67 to one decimal place.

12.  Solve 8y – 3 = 21

13.  4556 + 1967

14.  If the radius of a circle is 12.5cm, what is the diameter? 

15.  What is 7 squared minus 3 squared? 

16.  What is the area of a rectangle with: length = 0.15m and breadth = 3cm? 

17.  Order from the largest to the smallest: 3/12, 5/8, 5/12, 1/2, 5/6, 7/12

18.  I have 6 faces (two square and 4 rectangle), 12 edges and 8 vertices. All my angles measure 90 degrees.  What shape am I? 
19.  A scale drawing of a car was made for a designer. The scale was 0.5cmto 1m and the car was really 3m long. How long was the car in the scale drawing? 

20.  What is the volume of a cube, with sides measuring 6cm? 
